Untitled.notebook

AN

(229 4 (5,%)

308 (V=D
é@ O3 = o)

= RS0
-1 9
@D g=mx B
= (Dr
-S= %4& S 2y
- e 5> ?X#‘ﬂ
“ys ) .

ol sriegxed

3
= -7% +3]

[ R fﬂ*ﬂf

Oct 6-8:03 AM

October 06, 2017

(v Dt (7

€D O 1 1{] 9,43,
@n,—ﬂ T TE
S

(1)«)4((:)«) <a? (i ) =w>
G O P 2)

(- (aﬂ (y- (07 ‘1«—)) ?>

(vr D0 NETE 122

A:ﬂ XY (9,-8

Oct 6-8:36 AM

"
Oct 6-8:22 AM
2
g:_ e -~ =1 s y
N v4-> O
O: X - =1 * O -1
O = (=) (1)

f 0= |xrq] R

o —/(x3 _(zz\”‘ 4

a X
o (400) < ey
=AY (1Y)

Oct 6-8:39 AM

Oct 6-8:42 AM

O 4= T D¢ =)

)
Xty
KF -y

D: €=, -y vy, =0)

) 9(73=

Oct 6-8:48 AM




	Page 1

